(V)] HSK #@iait 75> S 7—/N

PLUNGE ARBOR WITH CARBIDE BAR

5 Features
+ EEV ICEROERIET—/N,
High rigidity arbor for less vibration.

* EI_:Z I\o
Low cost.

* Y B—=AIW—F A IR—=ILH 0],
Coolant through body.

HSK100A

T
(2}
X
B
i
L
ft
7
Z
P
7

|
N

%
a
S
=
L G zzzzzz0002720000022 =]
2 .
C G
Z aFt/
(0]
m
>
> CODE D L1 [ L2 [H[DI[KJ[W G
e] A100-FMP16CB__ -150 - 40 150 | 121 HCB-
2 200 -40 | '® [200 171 | '® |38 | % |8 | m8x3s
= A100-FMP22CB 250 - 50 250 | 22f
T 300 - 50 | 22 [ 300 | 271 | 18 |48 | 5 | 10 | h9B o
8 -850 - 50 350 | 321
D A100-FMP22CB -250 - 63 250 | 22f
5 800 - 63 | 22 | 300 | 271 | 18 |60 | 5 | 10 | HCB
o M10 x 35
m 350 - 63 350 | 32f
2 A100-FMP31.75CB 250 - 80 250 | 221
o 300 - 80 | 31.75| 300 | 271 | 30 | 76 | 7 |127| HSB- o
350 - 80 350 | 32f

BE 2—RAN—ICTZERADBERERHE Y Z TRV NDRELETY,
Special clamping bolt with coolant hole is required for coolant through type.




(V)] MBA 957Kk

CLAMP BOLT FOR FACE MILL ARBOR
G G

HCB F+v7RILb

CAP BOLT FOR FACE MILL ARBOR .

o | =
L3 L3

r 1w r |12 %
L L >
7
CODE D d L L1 2 [ 13 G H S
MBA-M 8 20 | 156 | 25 | 16 9 7 [ M 8xP=125 | 6 >
M10 28 | 18 | 31 20 | 11 9 | M1OxP=15 8 A
M12 383 | 5,5 |85 [ 23 | 12 | ,, [ MI2xP=1.75 [ 10 K
M16 40 38 | 22 | 16 M16xP=2.0 14 L
M20 50 | 27 [ 50 [ 30 [ 20 [ ,, | M20xP=25 17 K

M24 65 | 37 | 58 | 34 | 24 M24xP=3.0
—_ oL o
MBA-OH &/ &2—AWV—RI77FIVb -
CODE D d di L L1 L2 [ 13 G H S
MBA-M16-OH | 40 | 23 38 | 22 | 16 | 10 [ M16xP=20 14 E
M20-OH | 50 | 27 4 50 [ 30 [ 20 | ,, [M20xP=25 17 3
M24-OH | 65 | 37 58 | 34 | 24 M24xP=3.0 &
-
o
By
r
(@}
m
2
(.
-
>
X
W
o
By

‘ L |1 H L1
HCB HCB-OH

CODE D L L1 G H

HCB-M 8x35 13 8 M 8xP=1.25 6
M10x35 16 35 10 | M10xP=15 8
M12x35 18 12| M12xP=1.75 10
M16x40 24 40 16| M16xP=2.0 14

HCB-OH 2 4—AI—A*+ Yy 7HRIV b

CODE D di L L1 G H

HCB-M 8x35-OH 13 8 M 8xP=1.25 6
M10x35-0OH 16 3 35 10 | M10xP=1.5 8
M12x35-OH 18 12 | M12xP=1.75 10
M16x40-OH | 24 4 40 16| M16xP=2.0 14




(V)] HSK-SLM #4 kOv STV RINFIN S

SIDE LOCK END MILL HOLDER

* F A IVEAR—IVTELN .
Collant through body.

¢ XU RYINMIICRETT,
|deal for milling and drilling.

—L

s
J

HGI L

S
D

&
@)

I
%
A
%
—
<
ﬂ.
1
N
O
Y
7
T
<
B
)2
*
e
!

C£ fIG3 L1
v
- CODE FIG od L1 D H1 H2 H3 G
8 A100 - SLM20 -105 1 20 105 52 60 25 - M16 P2.0
P A100 - SLM25 -110 25 110 65 70 o4 25 M18 P2.5
g A100 - SLM32 -110 > 32 72 75 28
A100 - SLM40 -120 40 M20 P2.5
O
= A100-SLM42 _ -120 a2 | 120 8 | 8 | 26 | 32
— A100 - SLM50 -125 3 50 125 100 90 27 35 M24 P1.5
; WEHY 1 ZEIUCKWEIEN =L ET . Special size is available upon request.
[®) BI—Z> M TR THEY £9 (BAER). Coolant pipe is included.
5
a .
— ‘ (]
HSK 79— MN7
HSK COOLANT PIPE
O-ring
]
Ql |
[ |2
[
EIE.E-'.:_E% Fixed type @ @
CODE HSK No. d L L1 L2 G H
0-2050 HSK 50 10 33 23 10 M16xP1.0 5
0-2063 HSK 63 12 36.5 24.5 12 M18xP1.0 6
0-2100 HSK100 16 44 28 16 M24xP1.5 8
PIEIIN  Fiexible type
CODE HSK No. d L L1 L2 G
0-3063 HSK 63 12 36.5 25 11.5 M18xP1.0
0-3100 HSK100 16 44 28.5 15.5 M24xP1.5

WA SXIEBA LICERL Y FHERETY

Special wrench is required to remove flexible type coolant pipe.



